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Eight family members A, B, C, D, E, F, G and H are
sitting around a circular table with equal distance
between them but not necessarily in the same
order. Some of them are facing the centre with
some face outside i.e. opposite to centre. C sits
second to the right of F, F faces the centre. A is a
mother of C. Only two people sit between C and B
i.e either form C’'s right or C’s left. D's Daughter, G
sits second to the right of C. No female is an
immediate neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the same
direction. C is the sister of E. F is father of E. Only
three people sit between A’s Brother, D and E.
Neither D nor A is an immediate neighbour of F. E
sits second to the right of A. E is the mother of B.
Both H and E face a direction opposite to that of C.
C is not an immediate neighbour of A's husband.

Conclusion

“ G-D's Daughter
% A-F's Wife

C- E's Sister

E- C's Sister
F-A's Husband
B-E's Son

H- A's Mother
D-A's Brother
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Eight family members A, B, C, D, E, F, G and H are
sitting around a circular table with equal distance
between them but not necessarily in the same
order. Some of them are facing the centre with
some face outside i.e. opposite to centre. C sits
second to the right of F, F faces the centre. A is a
mother of C. Only two people sit between C and B
i.e either form C’'s right or C’s left. D's Daughter, G
sits second to the right of C. No female is an
immediate neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the same
direction. C is the sister of E. F is father of E. Only
three people sit between A’s Brother, D and E.
Neither D nor A is an immediate neighbour of F. E
sits second to the right of A. E is the mother of
B. Both H and E face a direction opposite to that of
C. C is not an immediate neighbour of A's
husband.
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Conclusion

# G- D's Daughter
4 A-Fswife

%+ C-E's Sister

4 E- C's Sister

4 F-A's Hushand
% B-E's Son

4 H- A's Mother
%+ D-A’s Brother
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Eight family members A, B, C, D, E, F, G and H are
sitting around a circular table with equal distance
between them but not necessarily in the same
order. Some of them are facing the centre with
some face outside i.e. opposite to centre. C sits
second to the right of F, F faces the centre. A is a
mother of C. Only two people sit between C and B
i.e either form C’'s right or C’s left. D's Daughter, G
sits second to the right of C. No female is an
immediate neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the same
direction. C is the sister of E. F is father of E. Only
three people sit between A’s Brother, D and E.
Neither D nor A is an immediate neighbour of F. E
sits second to the right of A. E is the mother of
B. Both H and E face a direction opposite to that of
C. C is not an immediate neighbour of A's
husband.

Conclusion

% G- D's Daughter
< A-F's Wife

# C-E's Sister

4 E- C's Sister

< F-A's Hushand

< B-E's Son

<% H- A's Mother

% D-A’s Brother
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Eight family members A, B, C, D, E, F, G and H are
sitting around a circular table with equal distance
between them but not necessarily in the same
order. Some of them are facing the centre with
some face outside i.e. opposite to centre. C sits
second to the right of F, F faces the centre. A is a
mother of C. Only two people sit between C and B
i.e either form C’'s right or C’s left. D's Daughter, G
sits second to the right of C. No female is an
immediate neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the same
direction. C is the sister of E. F is father of E. Only
three people sit between A’s Brother, D and E.
Neither D nor A is an immediate neighbour of F. E
sits second to the right of A. E is the mother of
B. Both H and E face a direction opposite to that of
C. C is not an immediate neighbour of A's
husband.

Conclusion

“ G- D's Daughter
%+ A-F's Wife

“ C-E's Sister

% E-C's Sister

“ F-A's Hushand
“ B-E's Son

“ H- A’s Mother
<+ D-A's Brother
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Eight family members A, B, C, D, E, F, G and H are
sitting around a circular table with equal distance
between them but not necessarily in the same
order. Some of them are facing the centre with
some face outside i.e. opposite to centre. C sits
second to the right of F, F faces the centre. A is a
mother of C. Only two people sit between C and B
i.e either form C’s right or C’s left. D's Daughter, G
sits second to the right of C. No female is an
immediate neighbour of H. A’s mother H sits to the
immediate right of B. G and B face opposite
direction. Immediate neighbour of G face the same
direction. C is the sister of E. F is father of E. Only
three people sit between A’s Brother, D and E.
Neither D nor A is an immediate neighbour of F. E
sits second to the right of A. E is the mother of
B. Both H and E face a direction opposite to that of
C. C is not an immediate neighbour of A's
husband.
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Conclusion

4 G-D's Daughter
< A-F's Wife

4 C-E's Sister

“ E-C's Sister

4 F-A’s Husband
“ B-E's Son

< H-A's Mother
# D-A's Brother

6. Ans. C.
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We have to check for every statement to satisfy the
given conclusions. And only 2" statement will
generate it.

igradeup

7. Ans. D.
/-‘_ _HH\\ //““_"-v..\\ e H‘“\\ TN
Play (1 Cricket A \ [ |

Match

\\“w_____./‘/
So, we can see that 3™ statement is satisfying the
given conclusion.
8. Ans. D.
In the above question only one statement is
following the given conclusions which is as follows:
Statement IV. .

| kite :' radio '

A

9. Ans. B.

In the above question only one statement is
following the given conclusions which is as follows:
Statement III.

P

(| Fan .:-5'1(353 +——{( paper x} Bed |

10. Ans. A.
In the above question two statements are following
the given conclusions that are as follows:
Statement II.

Statement V.

Free Test for
IBPS RRB OS 1 & Asst. Exams
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11. Ans. D.

Box-P,Q,R,S,T,Vand W

Colour - Black, silver, red, pink, yellow, white and
green

1) There are two boxes between the box Q and box
T. There is only one box between box T and box W.
There are three boxes between box W and box P,
which is of black colour. There are only two boxes
between box P and box R, which is of white colour.
The silver colour box is immediately above the box
W.

Case 1:

Box | Colour

Silver
W
R White
-
P Black
Q

Case 2:

Box | Colour
Q Silver
W
R White
I
P Black

2) Box S is immediately above yellow colour box. T
is of red colour box.
This is not possible in case 2. So, case 1 is correct.

Box | Colour
5 Silver

W | Yellow
R White
T Red

W

P Black

Q

3) More than three boxes are there between pink
and silver colour box. More than three boxes are
there between yellow and pink colour box.

Free Test for

IBPS RRB OS 1& Asst. Exams

Box | Colour
5 Silver

W | Yellow
R White
T Red

v Green
P Black

Q Pink

Hence, box W is of yellow colour.

12. Ans. C.

Box-P,Q,R,S, T,Vand W

Colour - Black, silver, red, pink, yellow, white and
green

1) There are two boxes between the box Q and box
T. There is only one box between box T and box W.
There are three boxes between box W and box P,
which is of black colour. There are only two boxes
between box P and box R, which is of white colour.
The silver colour box is immediately above the box
W.

Case 1:

Box | Colour

Silver
W
R White
T
P Black
Q

Case 2:

Box | Colour
Q Silver
W
R White
T
P Black

2) Box S is immediately above yellow colour box. T
is of red colour box.
This is not possible in case 2. So, case 1 is correct.
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Box | Colour
5 Silver

W | Yellow
R White
T Red

W

P Black

Q

3) More than three boxes are there between pink
and silver colour box. More than three boxes are
there between yellow and pink colour box.

Box | Colour

Silver

Yellow
White
Red
Green
Black
Pink

plRI<|d =z |w

Hence, three boxes are there between green and
silver colour box.

13. Ans. E.

Box-P,Q,R,S, T,Vand W

Colour - Black, silver, red, pink, yellow, white and
green

1) There are two boxes between the box Q and box
T. There is only one box between box T and box W.
There are three boxes between box W and box P,
which is of black colour. There are only two boxes
between box P and box R, which is of white colour.
The silver colour box is immediately above the box
W.

Case 1:

Box | Colour
Silver

W

R White

=

P Black

Q

Free Test for
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Case 2:
Box | Colour
Q Silver
W
R White
T
P Black

2) Box S is immediately above yellow colour box. T
is of red colour box.
This is not possible in case 2. So, case 1 is correct.

Box | Colour
5 Silver

W | Yellow
R White
T Red

v

P Black

]

3) More than three boxes are there between pink
and silver colour box. More than three boxes are
there between yellow and pink colour box.

Box | Colour

Silver

Yellow
White
Red
Green
Black
Pink

ple|<|H|=|=|w

Hence, box Q is of pink colour.

14. Ans. C.

Box -P,Q, R, S, T,Vand W

Colour - Black, silver, red, pink, yellow, white and
green

1) There are two boxes between the box Q and box
T. There is only one box between box T and box W.
There are three boxes between box W and box P,
which is of black colour. There are only two boxes
between box P and box R, which is of white colour.
The silver colour box is immediately above the box
W.
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Case 1:
Box | Colour
Silver
W
R White
T
P Black
Q
Case 2:
Box | Colour
Q Silver
W
R White
I
P Black

2) Box S is immediately above yellow colour box. T
is of red colour box.
This is not possible in case 2. So, case 1 is correct.

Box | Colour
5 Silver

W | Yellow
R White
T Red

W

P Black

Q

3) More than three boxes are there between pink
and silver colour box. More than three boxes are
there between yellow and pink colour box.

Box | Colour

Silver

Yellow
White
Red
Green
Black
Pink

ple|I<=|d|=|z|w

Hence, box R is placed immediately above red
colour box.

Free Test for
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15. Ans. E.

Box-P,Q,R,S,T,Vand W

Colour - Black, silver, red, pink, yellow, white and
green

1) There are two boxes between the box Q and box
T. There is only one box between box T and box W.
There are three boxes between box W and box P,
which is of black colour. There are only two boxes
between box P and box R, which is of white colour.
The silver colour box is immediately above the box
W.

Case 1:

Box | Colour

Silver
W
R White
T
P Black
]

Case 2:

Box | Colour
Q Silver
W
R White
T
P Black

2) Box S is immediately above yellow colour box. T
is of red colour box.
This is not possible in case 2. So, case 1 is correct.

Box | Colour
5 Silver

W | Yellow
R White
T Red

W

P Black

Q

3) More than three boxes are there between pink
and silver colour box. More than three boxes are
there between yellow and pink colour box.
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Box | Colour
S Silver
W | Yellow
R White
T Red
W Green
P Black
Q Pink
Hence, four boxes are there between box W and
box Q.
16. Ans. C.

Using Pythagoras theorem
Distance = sqrt((402)+(802)) = 40v5
30

20
20

N Shop

L]
20
S0 405tar‘ting point

80

New Home

17. Ans. B.

Using Pythagoras theorem

Distance = sqrt((80squarea)+(60square))
50

20
20

2 Shop

20
50 405tar‘ting point

80

New Home

18. Ans. C.
According the directions we will get C as the
answer

50

20
20

Starting Point 50 60 Shop

80

New Home

Free Test for

19. Ans. D.

R is father of U. R is married to T. V is father of R. T
is daughter-in-law of P. So P is wife of V. P is
mother S. P has no daughter. So S is also male. T
has only one daughter as U is a male then Q must
be daughter of T.

Family tree:

P(WVU}
s(9) R(ﬁﬂ—]

u(+) Q)
P is mother of S.
Hence, option D.
20. Ans. D.
R is father of U. R is married to T. V is father of R. T
is daughter-in-law of P. So P is wife of V. P is
mother S. P has no daughter. So S is also male. T
has only one daughter as U is a male then Q must
be daughter of T.
Family tree:

P [ﬁﬂ/[ﬂ
S(+) R(W T()

u(+) Q)
4 male members are there in the family.
Hence, option D.
21. Ans. A.
R is father of U. R is married to T. V is father of R. T
is daughter-in-law of P. So P is wife of V. P is
mother S. P has no daughter. So S is also male. T
has only one daughter as U is a male then Q must
be daughter of T.
Family tree:

P [ﬁ' V(+)
S(+) R(ﬁ T()

u(+) Q()
U is nephew of S.
Hence, option A.
22. Ans. E.
Conditions ii) applies, So answer is 5)
PMARIP
23. Ans. B.
None conditions applies, So answer is 2)
QIPRBA
24. Ans. D.
Conditions iii) applies, So answer is 4)
XGUPIX

IBPS RRB OS 1 & Asst. Exams
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25. Ans. C.

None Conditions applies, So answer is 3)

26. Ans. A.

Conditions iv) applies, So answer is 1)

7#%$%35

YUQM IY

27. Ans. C.

F is immediate left of A.

Hence, option C.

D is father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2" to the left of
A. D and C are not at any end so C is 2™ from the
left end and D is 2" from the right end. E is 3™ to
the left of G. E is not neighbor of C so E is
immediate right of A and G is at the right end. D’s
wife is immediate right of D so G is wife of D. G is
mother of H. H’s daughter is 3™ to the left of H so H
is immediate left of D. F’s mother is 3™ to the left of
A it means F is daughter of H and B is wife of H. So
B is at the left end and F is immediate left of A so A
is female.

Here is final arrangement:
[B Lc [F [4 [E [H D G

D {+7KG )

E()J«—>C(+) A[()

H (+]‘1—’ B(-)

F(-)
28. Ans. C.
G is mother of A.
Hence, option C.
D is father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2" to the left of
A. D and C are not at any end so C is 2™ from the
left end and D is 2" from the right end. E is 3™ to
the left of G. E is not neighbor of C so E is
immediate right of A and G is at the right end. D’s
wife is immediate right of D so G is wife of D. G is
mother of H. H’s daughter is 3™ to the left of H so H
is immediate left of D. F’s mother is 3™ to the left of
A it means F is daughter of H and B is wife of H. So
B is at the left end and F is immediate left of A so A
is female.

Here is final arrangement:
E lc [F [a [E [H D G

D{+7KG )

E()«=>C(+) A()

H(+]‘1—’B(-}

F(9)

Free Test for
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29. Ans. A.

H is 2" to the right of A and D is father of H.
Hence, option A.

D is father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2" to the left of
A. D and C are not at any end so C is 2™ from the
left end and D is 2" from the right end. E is 3™ to
the left of G. E is not neighbor of C so E is
immediate right of A and G is at the right end. D’s
wife is immediate right of D so G is wife of D. G is
mother of H. H’s daughter is 3™ to the left of H so H
is immediate left of D. F’s mother is 3™ to the left of
A it means F is daughter of H and B is wife of H. So
B is at the left end and F is immediate left of A so A
is female.

Here is final arrangement:
[B [c [F [a [E [H D G

D[+7KG (-)

E(Je==>C(+) A()

H{+]‘l—’B{-]

F(-)
30. Ans. D.
B and H are at the ends.
Hence, option D.
D is father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2" to the left of
A. D and C are not at any end so C is 2™ from the
left end and D is 2™ from the right end. E is 3™ to
the left of G. E is not neighbor of C so E is
immediate right of A and G is at the right end. D’s
wife is immediate right of D so G is wife of D. G is
mother of H. H’s daughter is 3™ to the left of H so H
is immediate left of D. F’s mother is 3™ to the left of
A it means F is daughter of H and B is wife of H. So
B is at the left end and F is immediate left of Aso A
is female.

Here is final arrangement:
[B [c [ F [a [E [ n D G

D[ +7KG )

E(Je—=>C(+) A()

H{+J‘l—’5(-}

F()
31. Ans. D.
B is mother of F.
Hence, option D.
D is father of A and sits 3™ to the right of A. E is
wife of C who is brother of A. C is 2"9 to the left of
A. D and C are not at any end so C is 2" from the
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left end and D is 2" from the right end. E is 3™ to
the left of G. E is not neighbor of C so E is
immediate right of A and G is at the right end. D’s
wife is immediate right of D so G is wife of D. G is
mother of H. H’s daughter is 3™ to the left of H so H
is immediate left of D. F’s mother is 3™ to the left of
A it means F is daughter of H and B is wife of H. So
B is at the left end and F is immediate left of A so A
is female.

Here is final arrangement:
I [c [F [a [E

D[ +7KG )

E(-)+«—>C(+) A()

= D G

H(+J'l—’B(-}
F()
32. Ans. C.
D<A=2C=B,E=A
E @ B— E>B
E#B— E=B
E is either greater than or equal to B since E =2 A =
C =B.
33. Ans. D.
E<F=H<G,I<A
I has no relation with E, F, H and G.
So, neither of the conclusion follows.
34. Ans. E.
C likes Yellow and is staying on an odd nhumbered
floor. Three persons are staying between C and B.
B lives above C. So B either lives on 7™ or 5% floor.

Floor

Case 1 Case 2

H N W B o N @
wm

c

Two floors are between B and E who likes Brown. E
doesn't staying on top floor.

Floor Case 1 Case 2
8

7 B

6

5 B

4 E/Brown

3 =

2 E/Brown
1 c

Free Test for
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The number of floors between B and A is same as C
and D. A lives above D but below B. From this
statement case 2 gets rejected and we get two
cases of case 1.

Case 1A |Case 1B

Floor

8

A

A
E/Brown |E/Brown
[ C

D

=N W s om) ) N

D

G likes White and lives below E.
Case 1A [Case 1B

|
B e
A

[a
E/Brown | E/Brown
c c
D G/White
G/White |D

Floor

N Wb e e u ow

At least one person is staying between Fand Aso F
lives on 8 floor. One floor is between F and H who
likes Red. So case 1A gets rejected. Two floors are

between G and the one who likes Pink. Then A likes
Pink.

Floor

Case 1B
F

B

| H/Red
AfPink
E/Brown
[
G/White

o

el m| w s n o w

The one who likes Blue is staying just above the
one who likes Black. So F likes Blue and B likes
Black. C doesn‘t like Silver then C likes Yellow and
D likes Silver.

Here is the final arrangement:
Floor Case 1B

F/Blue
B/Black
H/Red
A/Pink
E/Brown
C/Yellow
G/White
Dy/Silver

| | w| s | o u @
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All the persons are staying on even numbered floor
except D.
Hence, option E.
35. Ans. C.
C likes Yellow and is staying on an odd numbered

floor. Three persons are staying between C and B.

B lives above C. So B either lives on 7t or 5% floor.

Floor

Case 1

Case 2

BN W B wn| o | @

[ o

Floor Case 1 Case 2
8

7 B

6

5 B

4 E/Brown

3 Cc

2 E/Brown
1 C

Two floors are between B and E who likes Brown. E
doesn't staying on top floor.

The number of floors between B and A is same as C
and D. A lives above D but below B. From this
statement case 2 gets rejected and we get two
cases of case 1.

Floor Case 1A |Case 1B
8

7 B B

6 A

5 A

4 E/Brown | EfBrown
3 C Cc

2 D

1 5]

G likes White and lives b

elow E.

Floor Case 1A |Case 1B
g

7 B

]

5 A

4 E/Brown | E/Brown
3 c C

2 D G/White
1 G/White |D

Free Test for
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At least one person is staying between F and A so F
lives on 8t floor. One floor is between F and H who
likes Red. So case 1A gets rejected. Two floors are

between G and the one who likes Pink. Then A likes
Pink.

Floor

Case 1B
F

B

H/Red
A/Pink
E/Brown
c
G/White

s]

el wl e vl o u @

The one who likes Blue is staying just above the
one who likes Black. So F likes Blue and B likes
Black. C doesn‘t like Silver then C likes Yellow and
D likes Silver.

Here is the final arrangement:

Floor Case 1B

F/Blue
B/Black
H/Red
A/Pink

E/Brown
ClYellow
G/White
| DfSilver

| w & | o | @

C likes Yellow.

Hence, option C.

36. Ans. C.

C likes Yellow and is staying on an odd numbered
floor. Three persons are staying between C and B.
B lives above C. So B either lives on 7t or 5% floor.

Floor Case 1 Case 2
8

7 B

6

5 B

4

3 C

2

1 c

Two floors are between B and E who likes Brown. E
doesn’t staying on top floor.

ATTEMPT NOW
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Floor Case 1 Case 2
8

7 B

6

5 B

4 E/Brown

3 Cc

2 E/Brown
1 (i

The number of floors between B and A is same as C
and D. A lives above D but below B. From this
statement case 2 gets rejected and we get two
cases of case 1.

Floor Case 1A |Case 1B
8

7 B B

[

5 A

4 E/Brown | E/Brown
3 C C

2 D

1 D

G likes White and lives below E.

Floor Case 1A |Case 1B
a8

i B B

& A

5 A

4 E/Brown | E/Brown
3 c c

2 D G/White
1 G/White |D

At least one person is staying between Fand Aso F
lives on 8t floor. One floor is between F and H who
likes Red. So case 1A gets rejected. Two floors are

between G and the one who likes Pink. Then A likes
Pink.

Floor

Case 1B

F

B

H/Red

A/Pink

E/Brown
e

G/White

[»]

Lo | o~ @

o w

The one who likes Blue is staying just above the
one who likes Black. So F likes Blue and B likes
Black. C doesn't like Silver then C likes Yellow and
D likes Silver.

igradeup

Here is the final arrangement:
Floor Case 1B

F/Blue
B/Black
H/Red
A/Pink

E/Brown
ClYellow
G/White
i D/Slver

M| wl & w o w9 o

Three persons are staying between D and A.
Hence, option C.

37. Ans. A.

C likes Yellow and is staying on an odd numbered
floor. Three persons are staying between C and B.
B lives above C. So B either lives on 7t or 5% floor.

Floor Case 1 Case 2

B

Rlon| w s a e v e
m

c

Two floors are between B and E who likes Brown. E
doesn’t staying on top floor.

Floor Case 1 Case 2
8

7 B

6

5 B

4 E/Brown

3 Cc

2 E/Brown
1 (il

The number of floors between B and A is same as C
and D. A lives above D but below B. From this
statement case 2 gets rejected and we get two
cases of case 1.

Floor Case 1A |Case 1B
8

7 B B

)

5 A

4 EfBrown | E/Brown
3 C C

2 2]

1 D

G likes White and lives below E.

Free Test for
IBPS RRB OS 1 & Asst. Exams

12


http://www.gradeup.com/
https://xu75j.app.goo.gl/2ULb

www.gradeup.co

Floor Case 1A |Case 1B
8

7 B

6

5 A

4 E/Brown | E/Brown
3 C L&

2 D G/White
1 G/White |D

At least one person is staying between F and A so F
lives on 8t floor. One floor is between F and H who
likes Red. So case 1A gets rejected. Two floors are

between G and the one who likes Pink. Then A likes
Pink.

Floor

Case 1B
F

B

H/Red
A/Pink

E/Brown
c
G/White
]

] ] w] ] ] o] 9] @

The one who likes Blue is staying just above the
one who likes Black. So F likes Blue and B likes
Black. C doesn't like Silver then C likes Yellow and
D likes Silver.

Here is the final arrangement:
Floor Case 1B

F/Blue
B/Black
H/Red
A/Pink
E/Brown
CiYellow
G/White
D/Silver

D likes Silver.

Hence, option A.

38. Ans. D.

C likes Yellow and is staying on an odd numbered
floor. Three persons are staying between C and B.
B lives above C. So B either lives on 7™ or 5% floor.

| W e | o] o~ oo

Floor Case 1 Case 2
8

7 B

6

5 B

4

3 c

2

1 c
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Two floors are between B and E who likes Brown. E
doesn’t staying on top floor.

Floor Case 1 Case 2
8

7 B

6

5 B

4 E/Brown

3 Cc

2 E/Brown
1 C

The number of floors between B and A is same as C
and D. A lives above D but below B. From this
statement case 2 gets rejected and we get two
cases of case 1.

Case 1A |Case 1B

Floor

g

7 B B

6

5 A

4 E/Brown | E/Brown
3 £ C

2 D

i D

(__3 likes White and lives below E.

Floor Case 1A | Case 1B
E

7 B B

] A

5 A

4 E/Brown | E/Brown

3 C c

2 D G/White

1 G/White |D

At least one person is staying between F and Aso F
lives on 8t floor. One floor is between F and H who
likes Red. So case 1A gets rejected. Two floors are

between G and the one who likes Pink. Then A likes
Pink.

Floor

Case 1B
F

B

H/Red
A/Pink

E/Brown
c
G/White
D

M| w| s w] o] @

.

The one who likes Blue is staying just above the
one who likes Black. So F likes Blue and B likes
Black. C doesn't like Silver then C likes Yellow and
D likes Silver.
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Here is the final arrangement:
Floor Case 1B

F/Blua
B/Black
H/Red
AfPink

E/Brown
ClYellow
G/White
D/Sliver

B OB W e WA O] | 0D

One person is staying between A and C.

Hence, option D.

39. Ans. C.

Tisha got less marks than both Vinay and Parul.
Rohit got more marks than Queen but less than
Sudha. Tisha got the second least rank and Parul
got the second highest rank, Vinay got less marks
than Rohit.

Sudha > Parul > Rohit > Vinay > Tisha > Queen

(1%) (20) (39  @®m) (5 (6

40. Ans. D.
Tisha got less marks than both Vinay and Parul.
Rohit got more marks than Queen but less than
Sudha. Tisha got the second least rank and Parul
got the second highest rank, Vinay got less marks
than Rohit.

Sudha > Parul > Rohit > Vinay > Tisha > Queen

(1= (20 (3¢) 4m) (5™ (&)

41. Ans. A.
8p+7g+7pq=25.............. X2
2p+2q+2pg=6............... x7
Using elimination method
16p+14q+14pg=50
14p+14q+14pg=42

2p =8

p=28/2

p=4

substituting in 8p+7q+7pq=25
8*4+7q+7pq=25
32+7q+7%4*q=25
7q+28q=25-32

35q=-7
q=-1/5
p>q

Free Test for

IBPS RRB OS 1 & Asst. Exams

14

fgradeup

42. Ans. A.
5x?% - bx-Tx+7 6y2 + 12y+4y +8=0
5x (x-1) - 7(x-1) 6y(y+2) + 4(y+2) =0
(5x-7) (x-1) (6y+4) (y+2)
x=7/51 y=-2/3,-2
43. Ans. E.
Solving I
&
16x = 122 + V¥ 4096 _ 4x?
16x = 144 + 8 - 4x?
4x% +16x - 152 =0
Using quadratic formula,
X = 4.48 or -8.48
Solving II
22.03y = 6.48y?
y(6.48y - 22.03) =0
y = 0 or 22.03/6.38 = 3.45

4.48 > 0 and 3.45
-8.48 < 0 and 3.45
Hence, no relation can be established between x

and

Y.

44, Ans. A.

I. x
2x2
2x2
2x2

i 3
+23:2

+ 3 = 5x
-5x+3=0
-2x-3x+3=0

2x(x -1) -3(x-1)=0

(2x
X =
II.

V¥

-3) (x-1) =0
3

1,2

1|

N

e

=0

Or,y = 3Hence x <y
45. Ans. E.

E. L

=

=

=

2

42 1 17x+15=0

XE
4" +12x + 5x+15 =0

(x+3)(4x+5_) =0

x= 3, 4

2
I.3¥ +19y +28=0

=

=

=

2
3¥ +12y+ 7y+28 = 0
(y+4)(3y+7) =0
7

y= 4, 3

= No relation between X and Y
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46. Ans. B.
Let, total no. of male students = M
And total no. of female students = F

No. of male students in class 1 = m1
No. of male students in class 2 = m2
No. of male students in class 3 = ms
No. of male students in class 4 = ma
No. of female students in class 5 = ms
No. of female students in class 1 = f1

No.
No.

of female students in class 2 = f2
of female students in class 3 = f3
No. of female students in class 4 = f4
No. of female students in class 5 = fs
According to problem,

=>m2 - m4 =78
=>m2 + ms = 330
From, (2) - (1) we get,

=2mz = 408

=>mz2 = 204

Putting the value of m2 in (2) we get,
=204 + ms4 = 330

=>ms = 126

According to problem,
=>ms = 18

=>M x 3/100 = 18
=>M = 600

600% — 2> —75 [ 1220 (25)%]
"My = 2x100 PPz TNg)

«m3z=M-(m1+ M2+ mMas+ mMs)

=>m3 = 600 - (75 + 204 + 126 + 18)

=>m3 = 600 - 423

=>m3 =177

Ratio of male to female students in the school =
4 :3

According to problem,

=600/F = 4/3
=F = 600 x 3%
=F = 450
450 L 50 [ 11 1’% (100) %]
e = by = 1= =
f2 9 x 100 g 9

50 (1 + 15D) 125
I 100

ofs =ms+9 =18 + 9 = 27
According to problem,

=>fs - f1 = 36 (3)
ofa+fi=F - (f2+ f3 + fs)

=>fs + f1 = 450 - (50 + 125 + 27)
=fs + f1 = 450 - 202

=fs + f1 = 248
From (4) - (3) we get,
=>2f4 = 248 + 36

(4)
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=>fqs = 284/2

=fs4 = 142

Putting the value of f4 in (4) we get,

=142 + f» = 248

=>f, = 248 - 142

=>f, = 106

~Total no. of students studying in class 4,

=ms + fa =126 + 142 = 268

47. Ans. D.

No. of male students inclass 1 = m1 = 75

No. of female students in class 2 = f> = 50
~Required ratio,

=75:50

=3:2

48. Ans. E.

No. of female students in class 3 = f3 = 125
No. of male students inclass 3 = m3 = 177
~Required percentage,

=(125/177)/100%

=>70.62%

49, Ans. C.

No. of male students in class 2 = m2 = 204

No. of female students in class 2 = f = 50
~Total no. of students in class 2 = 204 + 50 = 254
No. of male students inclass 3 = mz = 177

No. of female students in class 3 = f3 = 125
~Total no. of students inclass 7 = 177 + 125 =
302

~difference between the total no. of students of
class 2 and class 3,

=302 - 254 = 48

50. Ans. A.

No. of female students in the school = F = 450
No. of male students in the school = M = 600
~Total no. of students in the school = F + M = 450
+ 600 = 1050

No. of male students in class 5 = 18

~Required percentage,

=18/1050 x 100%

=>1.71%

51. Ans. C.

Probability of passing 15t paper = 0.6
Probability of passing 2" paper = 0.7
Probability of passing 3™ paper = 0.7
~Probability that Isha passes in all three papers,
=0.6 x 0.7 x 0.7

= 0.294

52. Ans. C.

When Isha passes only in 1t paper,

Probability of passing in 1%t paper = 0.6
Probability of passing in 2" paper = 0.7
~Probability of failing in 2" paper =1 - 0.7 = 0.3

ATTEMPT NOW
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Probability of passing in 3™ paper = 0.9

~Probability of failing in 3™ paper =1 - 0.9 = 0.1
~Probability of passing in only 15t paper,

=0.6 x 0.3 x0.1

= 0.018

When Isha passes only in 2™ paper,

Probability of passing in 15t paper = 0.6
~Probability of failing in 1t paper =1 - 0.6 = 0.4
Probability of passing in 2"d paper = 0.9
Probability of passing in 3™ paper = 0.7
~.Probability of failing in 3 paper =1 - 0.7 = 0.3
~.Probability of passing in only 2" paper,
=0.4x0.9x0.3

= 0.108

When Isha passes only in 3™ paper,

Probability of passing in 15t paper = 0.6
~Probability of failing in 1t paper =1 - 0.6 = 0.4

Probability of passing in 2" paper = 0.9
~.Probability of failing in 2" paper = 1 - 0.9 = 0.1
Probability of passing in 3™ paper = 0.9
~.Probability of passing in only 3™ paper,
=0.4x0.1 x0.9

= 0.036

~Probability that Isha passes in only one paper,
= 0.018 + 0.108 + 0.036

= 0.162

53. Ans. D.

Let present age of Abid = M years

Then according to question

2(M-X)=M+X

From 1 and 2 we get
x/y=7/15

54. Ans. D.
Compound interest :
H

A=P(1+i
n

From statement II:
r Y

_ Pll+—
2340 = ( 100

From statement III:
"Il
F
5460 = P| 1+—
100

On dividing (2) by (1),
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, 1
5460/2340 =| 1+—
(1)

1
91/39 = 1+L
100

91/39 -1 =1r/100

91/39 =r/100

r=9100/39 %

Thus statement II and III gives the answer

From statement I,

P = 10,000

Now if we replace the value of P in equation (1) and
(2), we get the answer from both

Thus statements I and III or I and II also gives the
answer

Hence, any of the two statements are sufficient to
answer this question

55. Ans. E.

From statement I and III,

Total = Goats + Hens + Rabbits

50 = Goats + 25 + 5

Goats = 50 - 30 = 20

From statement II:

Hen has 2 legs and 1 head while goat has 4 legs ad
1 head

No. of legs = 2 * No. of heads + 40

Let No. of goats = G

No. of hens = H

4G +2H = 2(G + H) + 40

4G + 2H = 2G + 2H + 40

2G =40

G =40/2 =20

Hence, either statements I and III together or
statement II is sufficient

56. Ans. E.

From statement I,

Resultant discount of two successive discounts = (a
+ b - ab/100) %

(a+b-ab/100) = 32

From statement II,

Resultant discount of three successive discounts =
{a+b+c+ (ab+ bc+ ca)/100 + abc/10000} %
{a+b+c+ (ab+ bc+ ca)/100 + abc/10000} =
51.4

From statement III,

c=35%

We can place the value of ¢ in equation of
statement 1I,

Then there are two equations and 2 variables a and

ATTEMPT NOW
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b which can be solved

Hence, all the statements are required to answer
57. Ans. E.

Let the speed of trains be x and y respectively
From statements I,

Relative length = 120 + 100 = 220m

From statement II,

Relative speed = (x - y)

Speed = Distance/Time

X -y =220/27 ....(1)

From statement III:

Relative speed = x + y

X+y=220/12 ........ (2)

From equations (1) and (2), we can calculate x and
y, the speed of two trains

Hence, all the statements are required to answer
this question.

58. Ans. D.

Let the speed of boat in still water be x

From statement I and II:

d = distance covered one way = 6 km

Let the time taken to go upstream be a hours
Time downstream = a - 2 hours

Total time = time downstream + upstream
a-2+a=4

2a =6

a = 3 hours

Let the speed of current be y

X +y = d/1 (downstream)

X —y = d/3 (upstream)

Solving both equations we can get x

From statements II and III:

Let the time taken to go upstream be a hours
Time downstream = a - 2 hours

X - 2 = d/a (upstream)

x + 2 = d/(a-2) (downstream)

Two equations two unknowns, x can be calculated
From statements I and III:

Speed downstream = x + 2

Speed upstream = x - 2

6/(x+2) + 6/(x-2) = 4
6(x-2)+6(x+2)=4(x2-4)

12x = 4(x2 - 4)

Xx2-3x-4=0

x=-1,4

Neglecting negative value, x = 4 kmph

Hence, any of the two statements are sufficient
59. Ans. B.

In country Abma, the cost of product after one

month = 81 1+l
4

Therefore, cost of the product after n months =
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81 (1+1]”
4

In country Yalka, the cost of the product after one

month = 625 ‘1—l
4

Therefore, cost of the product after n months = 625

&)

If cost of the products in X and Y become equal
after n months, we can write

81 (1+1] n = 625(1—1] n
4 4

(5/3)" = 625/81

(5/3)" = (5/3)*

Therefore, n = 4.

60. Ans. D.

Let the distance of school from town P be x.
Distance if school from town Q = 80 - x

Total cost of travelling = 200 x x x 1.5 + 100 x
(80 - x) x 1.5

= 300x + 12000 - 150x

= 12000 + 150x

When, x = 0 total cost of travelling is minimum.
Thus, school should be built at town P.

61. Ans. E.

The initial amount of Honey was:

Let the initial quantity of Honey in the bottle be x
945= x (1- 2/5)3

945= x* 27/125

X= 945%125/27

x= 4375 ml

Initial amount of honey= 4.375 liters.

62. Ans. A.

Let total work= 120 unit

A can complete the work in 40 days.

~ A’s 1 day’s work = 120/40 =3 unit

B can complete the work in 15 days.

~ B’s 1 day’s work = 120/15 = 8 unit

C can complete the work in 30 days.

~ C's 1 day’s work = 120/30 = 4 unit

A is assisted by B and C only on every third day.
~ Their 3 days’ work,

3*3+8*1+4*1 =21 unit

~ Their 3 days’ work = 21 unit

~ hence 105 units will be completed in 5*3 = 15
days of remaining 15 units 6 units will be
completed by A in next two days and the remaining
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9 units will be completed by A, B, and Cin 9/21
days.
therefore total number of days taken to complete
work = 15+2+4+9/21 = 17 3/7 days.
63. Ans. C.
Let the time in which Ramu, Somu and Domu can
complete the work be r days, s days and d days
respectively. Ratio of the wages of Ramu, Somu
and Domu is equal to ratio of the work done by
Ramu, Somu and Domu
6300:7350:8400 = 4(1/r) : 4(1/s) : 4 (1/d)
=>1/r:1/s:1/d =6:7:8
=>4/r+4/s+4/d=1
>1/r+1/s+ 1/d =Va
=>1/d = 8/21 (1/4) = 1/10.5
=>d = 10.5 days.
64. Ans. B.
Let amount invested by Ramesh = x Rs.
Manoj =
20,000 x 6
Ramesh = 12 x X
Ratio of their earning = 120000 : 12x or
6000:(9000-6000)
12000 6000

12x - 3000 4 = rs 5000
X = 5000 Rs.
65. Ans. D.
Let the total profit be Rs. P
Since 60% of the profit should be divided equally
between them and the remaining profit is to be
treated as interest on capital
~Difference is only due to the 40% of the profit
which was distributed according to their
investments
~40% of P is distributed in the ratio =
125000:85000 = 25:17
~Share of the first partner

25 25) 5P
- m#P[25+lT J = %S #P[E] 7

~. Share of the second

17 17P
= 40% qu[—J = —
partner 42 105
According to the question,
_5P _lTP _3
Difference in shares 21 105
25-17)P
SBIINP gy
105
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s P=300 x% = Rs5393750

~Total profit made in the business is Rs. 3937.50
66. Ans. C.
A =P(1 + r/100)t
Given, Sapna borrowed Rs. 900 at 10% p.a.
compound interest.
Time = 2 years
A = 900(1 + 10/100)2
=>A = Rs. 1089
Now, she paid back Rs. 500 at the end of 15t year.
Interest on this 500 for 1 year = 10% of 500= 50
So by the end of second year amount left to be paid
= 1089-500-50 = 539
Amount to be paid at the end of the 2" year = Rs.
539
67. Ans. C.
Area of the four walls = total cost/cost per sq. Feet
=8960/8 = 1120 square feet
2h (I+b) =1120
2h (20+12) =1120
h=17.5
68. Ans. B.
Let, Upstream speed = x km/h and Downstream
speed=y km/h
A man can row 18 km upstream and 42 km
downstream in 6 hours.
According to problem,

18 42
= —+—=06

X oy

S 4 (1)

He can row 30 km upstream and 28 km
downstream in 7 hours.
According to problem,

30 28
=2 —+—=7

x yoo. (2)
From (1) - (2) we get,

70 28
> ———=10-7

y ¥
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=>-—==3
y

=y =14
Putting the value y = 14 in (2) we get,

=X = 30/5
=>X=6
~.Speed of the man in still water,
X+
= XrY
2

14+6

2

=10 km/h

69. Ans. B.

The Profit % and the Discount % of the Article D =
X

Cost Price*(100+x)/100 = S.P.

1000*(100+x) = 1100*100

100000+1000x = 110000

1000x = 110000-100000

1000x = 10000

x = 10%

M.P. = 1100/90*100

M.P. = Rs. 11000/9 = 1222.22

70. Ans. B.

The ratio of Cost Price of the Article D and Article E
is 4:5

C.P. of Article D = Rs. 1000

C.P. of Article E = 1000*5/4

= Rs. 1250

S.P. of Article E = 1250*%120%
= Rs. 1500

M.P. of Article E = Rs. 4000

Discount % = (M.P. - S.P.)*100/M.P.

= (4000-1500)*100/4000

=62.5%

71. Ans. C.

M.P. of Article A = Rs. 1400

C.P. of Article B = 1400-250 = Rs. 1150
S.P. of Article B = 1150*108%

= Rs. 1242.

M.P. of Article B = 1242+1250 = Rs. 2500
Discount % = (2500-1242)*100/2500
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Discount %
Discount %
72. Ans. C.
M.P. of Article A = Rs. 1400

C.P. of Article D = Rs. 1000

Difference = Rs. 1400 - 1000

Less % = (1400-1000)*100/1400

Less % = 28.57%

73. Ans. E.

M.P. of Article C = Rs. 2760

C.P. of Article C = 2760*100/120

= Rs. 2300

New Profit% = 20%+12.5%

= 22.5%

S.P. of Article C = 2300*122.5/100

= Rs, 2817.5

74. Ans. D.

Let x be the number of hours Sana walks at
10kmph. x will be the no. of hours Peter and Gavin
traveled by car at 50kmph. Let x1 be the number of
hours that Gavin walks till Peter reaches Sana. Let
x2 be the number of hours when Peter and Sana
travel in the car till the destination. The total
Distance traversed by each of them can be
evaluated as follows

1258*100/2500
50.52%

Peter = 50x-50*x1+50*x2=200—————— (1)
Sana= 10x+10*x1+50%x2=200—————— (2)
Gavin = 50x+10*x1+10%x2=200—————- (3)

Solving we get x1= 2 hours, x1=3 hours, x2=3
hours. Total = 8 hours.

75. Ans. B.

Time taken to meet for the first time anywhere on
the track

=length of the track/relative speed
=600/15+10

=24sec

76. Ans. D.

Required percentage= {(40-35)/35}*100% =
142/7%

77. Ans. B.

Let the selling price in be local market be Rs.x
Selling price of exported =130% of x=1.3x

year |Revenue from Revenue from local

export{in thousands) |market(in thousands)

2011 J'39x 50x
2012 | 52x 70x%
2013 |45.5x 65x
2014 | 52x 50x
2015 | B5x 80x

So in 2014 the revenue is more.
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78. Ans. E.

Total number of two wheelers sold from 2011 to
2015 is 80, 110, 100, 90, and 130 respectively.
100 is 25% more than 80.

So in the year 2013 the number of two wheelers
sold is 25% more than in 2011.

79. Ans. C.

In 2014, the number of two wheelers exported is
4/5 i.e. 80% of that sold in the local market but in
other years it is less than 4/5. So the required
percent is highest in 2014.

80. Ans. B.

The number of two wheelers sold in the local
market in 2010=40

The number of two wheelers exported in 2010=25
Percent=25*100/40=62.5%

81. Ans. C.

PCA means Prompt Corrective Action which is
imposed by RBI imposed on banks with a higher
percentage of Non Performing Assets. Banks under
PCA should make all-out efforts to recover and
reduce NPA lest face the further future action of
RBI.

To ensure that banks don't go bust, RBI has put in
place some trigger points to assess, monitor,
control and take corrective actions on banks which
are weak and troubled. The process or mechanism
under which such actions are taken is known

as Prompt Corrective Action, or PCA.

82. Ans. B.

Kaimur Wildlife Sanctuary is located in Kaimur
District of Bihar and is near Bhabhua.

Note:-It is the largest sanctuary in the state and
occupies an area of about 1342 km?2.

83. Ans. D.

Mahesh Kumar Jain has been appointed as fourth
deputy governor for a three-year term.

The fourth deputy governor’s post has been vacant
since SS Mundra retired in July 2017.

Note:

* Mahesh Kumar Jain was appointed as the CEO of
IDBI Bank in 2017 and was previously CEO at
Chennai based Indian Bank between November
2015 and March 2017.

84. Ans. C.

‘The Crisis Within Knowledge and Education in
India’ has been authored by Ganesh Devy.

This book is a reflection by scholar and language
researcher G.N. Devy on the acute crisis of
knowledge and education in our country that has
been caused by the double wounds of the varna-
divide and colonialism, which left a painful legacy.
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85. Ans. B.

India signed a loan agreement of 200-million
Dollar with the World Bank for the National
Nutrition Mission (POSHAN Abhiyaan) for 315
districts across all states and union territories.

It would help the government in achieving its goal
of reducing stunting in children 0-6 years of age
from 38.4% to 25% by the year 2022.

Note:

e The POSHAN Abhiyaan, an overarching scheme
for holistic nourishment, was launched by Prime
Minister Narendra Modi in March this year at
Jhunjhunu, Rajasthan.

e POSHAN Abhiyaan (National Nutrition Mission) is
scheme of Ministry of Women and Child
Development.

e POSHAN stands for - Partnerships and
Opportunities to Strengthen and Harmonize Actions
for Nutrition in India.

86. Ans. C.

* Ministry of Tourism, Government of India has
launched ‘Swadesh Darshan’ scheme to fund
development of theme-based tourism circuits in
India.

* Under the Swadesh Darshan scheme, thirteen
thematic circuits have been identified, for
development namely: North-East India Circuit,
Buddhist Circuit, Himalayan Circuit, Coastal Circuit,
Krishna Circuit, Desert Circuit, Tribal Circuit, Eco
Circuit, Wildlife Circuit, Rural Circuit, Spiritual
Circuit, Ramayana Circuit and Heritage Circuit.

* Krishna Circuit is among the thirteen thematic
circuits identified for development under Swadesh
Darshan Scheme.

* Twelve destinations have been identified for
development under Krishna circuit namely Dwarka
(Gujarat), Nathdwara, Jaipur & Sikar (Rajasthan),
Kurukshetra (Haryana), Mathura, Vrindavan,
Nandgaon, Gokul, Barsana, & Govardhan (Uttar
Pradesh) and Puri (Odisha).

87. Ans. B.

On 4th June 2018, Reserve Bank of India conducted
Financial Literacy Week to focus on creating
awareness among customers of banks. The theme
of the Financial Literacy Week is ‘Customer
Protection’.

88. Ans. E.

Ferrari's Sebastian Vettel dominated the Canadian
Grand Prix to retake the championship lead as
Lewis Hamilton could finish only fifth for Mercedes.
It was Vettel’s 50th career Formula One victory.
Mercedes' Valtteri Bottas finished second and Red
Bull's Max Verstappen third
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89. Ans. C.

Hum hai na - is the tagline of ICICI bank. Founded
in 1994, it became the first Indian bank to be listed
in the New York Stock exchange in 2000.

90. Ans. C.

Paraguay will have a woman President (interim)
Alicia Pucheta for the first time in its history after
outgoing leader Horacio Cartes stepped down.

The parliament is due to confirm Cartes’s
resignation and proclaim Pucheta as interim
president.

91. Ans. A.

ABRS stands for Aadhar Based Remittance Service.
Under this scheme, remitter can initiate IMPS
transaction even using the beneficiary's AADHAAR
number, which acts as a financial address and is
linked to the beneficiaries account number.

92. Ans. B.

The International Maritime Organization (IMO),
formed in 1959, is the specialized agency of United
Nations responsible for improving maritime safety
and preventing pollution from ships.

Its headquarters is located in London, United
Kingdom.

93. Ans. B.

US-based Kathak dancer Anindita Anaam has been
honoured with the prestigious 'Shri Jayadev
Rastriya Yuva Pratibha Puraskar 2018’ for
outstanding contribution to the field of art. Anindita
is a regular performer and Kathak instructor in
Wisconsin with an aim to popularise the dance form
globally. She has been a part of many cultural
festivals in which she blended traditional Kathak
with other world forms like jazz and ballet.

94. Ans. D.

India batswoman Mithali Raj has become the first
Indian cricketer to amass 2000 runs in Twenty20
Internationals (T20I).

She has also become the first Indian cricketer (Men
and Woman’s) to complete this record.

95. Ans. B.

On April 2018, Indian Space Research Organization
(ISRO) successfully launched the IRNSS 11
navigation satellite from the Satish Dhawan Space
Centre at Sriharikota, Andhra Pradesh.

‘IRNS-1I’ satellite replaced IRNSS 1A

satellite after the failure of the IRNSS 1H mission
in August 2017

Note:

e The Indian Regional Navigation Satellite
System (IRNSS) is a constellation of seven
satellites that provides indigenously developed
regional GPS services called NavIC.
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96. Ans. C.

Fugitive Economic Offenders Bill, 2018 which will
empower authorities to attach and confiscate
properties and assets of economic offenders like
loan defaulters who flee the country.

A fugitive offender term applies only to those who
owe or more than Rs. 100 crores in the domestic
territory of India.

97. Ans. D.

Karnataka Vikas Grameena Bank (KVGB)
launched the ‘Vikas She Plus’, a loan scheme for
women to take up new ventures or for
expanding/modifying the existing enterprises.
Note:

e The maximum loan amount under the scheme

is Rs. 2 lakhs with a repayment period of 60
months.

98. Ans. C.

Indian swimmer Sandeep Sejwal won the gold
medal in men’s 50 meters breaststroke event at the
Singapore National Swimming Championships in
Singapore.

Sandeep broke the Singapore meet record with a
timing of 27:59 seconds to win gold.

99. Ans. B.

BFD stands for Best Finger Detection. The best
finger of a resident is the one that has the highest
probability of matching. While using AePS, operator
checks the resident’s fingers and captures all
fingers from both hands to determine the best
fingers. Once the best attempt is captured for all
fingers, it is then compared with the biometric data
stored with UIDAI CIDR. Based on the response,
results are communicated indicating the best
fingers of the resident with the rankings in
decreasing order.

100. Ans. B.

Kanwar Lake Bird Sanctuary is located at
Begusarai, Bihar. It is Asia's largest freshwater
oxbow lake.

101. Ans. E.

Ans. E

The United Nations Children's Fund (UNICEF) is
a United Nations Program headquartered in New
York City that provides long-term humanitarian
and developmental assistance

to children and mothers in developing countries.
102. Ans. E.

The union government has added ten Iconic sites in
the third phase (1st phase- 2016 & 2nd- 2017) of
its flagship project of Swachh Iconic Places (SIPO,
under Swachh Bharat Mission.
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The sites are Raghavendra Swamy Temple (Kurnool
in Andhra Pradesh), Hazardwari Palace
(Murshidabad, in West Bengal), Brahma Sarovar
Temple (Kurukshetra in Haryana), Vidur Kuti
(Bijnor in Uttar Pradesh) and Nagvasuki Temple
(Allahabad in Uttar Pradesh) and Mana village
(Chamoli in Uttarakhand) and Kanvashram (in
Uttarakhand).

103. Ans. C.

UTTAM stands for — Unlocking Transparency by
Third Party Assessment of Mined Coal
(uttam.coalindia.in).

The Ministry of Coal and Coal India Limited (CIL)
developed UTTAM which aims to provide an App for
all citizens and coal consumers to monitor the
process of Third Party Sampling of coal across CIL
subsidiaries.

104. Ans. E.

Justice (Retd.) G. Rohini is the head of the
commission to examine the issue of Sub-
categorization within Other Backward Classes
(OBCs) in the Central List.

The Union Cabinet has approved the final extension
of tenure (till 31st July 2018) of the Commission
constituted to examine the issue of Sub-
categorization within OBCs in the Central List.

105. Ans. D.

Polish author ‘Olga Tokarczuk’ has won the Man
Booker International Prize in 2018 for fiction for her
novel ‘Flights’. The USD 67,000 award is split
evenly between the writer and her translator,
Jennifer Croft.

106. Ans. A.

White label ATMs- White Label ATMs are those
ATMs which set up, owned and operated by non-
bank entities incorporated under Companies Act
1956.

e Brown label ATMs- Brown label ATMs are owned
and maintained by service provider whereas bank
whose brand is used on ATM takes care of cash
management and network connectivity.

e Green label ATMs- These ATMs are provided
specifically for Agricultural transactions.

e Orange Label ATMs- ATMsprovided for Share
Transactions.

e Yellow Label ATMs- o ATMs provided for E-
commerce

e Pink label ATM- o ATM provided for women
banking.
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107. Ans. C.

RBI purchases (or sells) government securities to
the general public in a bid to increase (or decrease)
the stock of high powered money in the
economy.This is known as “Open Market Operation
108. Ans. D.

It's on Krishna River that Nagarjuna Sagar dam is
built across.

This dam is situated in between the Nalgonda and
Guntar district which is in Andhra Pradesh, and is
the second biggest water reservoir in India.
109. Ans. B.

National Payments Corporation of India (NPCI)
has appointed Dilip Asbe as Managing Director and
CEO of the organisation.

Before this appointment, Mr. Dilip Asbe was
working as CEO-in-charge of NPCI.

110. Ans. B.

As per section 18 of Negotiable Instrument Act,
1881 where an amount is stated differently in
figures and words in the cheque the banker will
clear the cheque by taking in account, the amount
stated in words to be the amount undertaken or
ordered value to be paid to the customer.

111. Ans. A.

Bagdogra Airport is in Siliguri, West Bengal.

Air traffic at Bagdogra crossed 1 million for the first
time in 2014-15. This is one of the few airports in
India with zero sales tax on aviation turbine fuel.
112. Ans. D.

The World Elder Abuse Awareness Day is observed
across the globe on 15th June every year.

It represents the one day in the year when the
entire world voices its opposition to the abuse and
suffering inflicted to some of our older generations.
113. Ans. D.

Bandar Seri Begawan formerly known as Brunei
Town is the capital city of the Sultanate of Brunei.
It is officially governed as a municipality.

114. Ans. C.

Brazil alone accounts for almost 25% of the world's
sugar.

Top five countries are - Brazil, India, China,
Thailand and Pakistan.

115. Ans. D.

Madhya Pradesh Chief Minister Shivraj Singh
Chouhan has inaugurated ‘School Chale Hum
Abhiyan 2018’ at Samanvay Bhavan in Bhopal to
boost education and encourage children to enroll
themselves in schools.
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116. Ans. D.

Veteran journalist and editor of Srinagar based
‘Rising Kashmir’ newspaper was shot dead by
unidentified gunmen outside his office in the Press
Enclave area of Srinagar in Jammu & Kashmir.
Bukhari was instrumental in organising several
conferences for peace in the Kashmir Valley.

117. Ans. D.

The Constitution (122 Amend.) Bill, 2014 was
introduced to amend the Constitution to introduce
the Goods and Services Tax (GST).

118. Ans. C.

The Rajasthan Govt. has launched ‘Nidaan’ software
for presumptive diagnosis and monitoring of
seasonal and non-communicable diseases as well as
the trends of ailments found in specific areas.
Note: It will facilitate online entries of as many as
46 diseases and healthcare services available for
their treatment in different institutions.

119. Ans. A.

Periyar National Park is a protected area in the
districts of Idukki, Kottayam and Pathanamthitta
in Kerala, India.

Note:-It is notable as an elephant reserve and a
tiger reserve.

120. Ans. A.

Minister of Textile Smriti Irani is elected to Rajya
Sabha from Gujarat.

121. Ans. B.

As stated in the 15t para, “In Ptolemaic Egypt (305
B.C. to 30 B.C.), the region's prosperity was linked
to the flood cycle of the Nile River, with regular
flooding sustaining local agriculture.” Hence, option
B is correct.

122. Ans. A.

As stated in the 1%t para, “A drier monsoon season
could have reduced Nile flooding, leading to fewer
crops and more food shortages and, ultimately,
initiating a societal unravelling that led to the
Ptolemaic dynasty's eventual collapse, the study
authors wrote.” Hence, option A is correct.

123. Ans. C.

As stated in the 2" para, “When volcanoes erupt,
they spew sulphur-rich gases in plumes that can
extend into the stratosphere. These gases then
oxidize and form particles called sulphate aerosols
that can dramatically impact weather patterns such
as monsoons, the study authors reported.” Hence,
option C is correct.

124. Ans. D.

As stated in the 3™ para, “Aerosols produced by a
volcanic eruption in Iceland, for instance, could
thereby sap the heat driving the African monsoon,
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thus leading to less rain and reduced Nile flooding,
Ludlow explained.” Hence, option D is correct.

125. Ans. A.

As stated in the 4% para, “The nilometers confirmed
that during years when there were volcanic
eruptions, the average Nile response was lower
flood heights, the researchers found.” Hence,
option A is correct.

126. Ans. E.

The word “knell” means sound of a bell or ringing of
a bell and out of the given words, “"Reverberation”
has a similar meaning. “Discern” and “Descry”
means sight or glimpse. “"Entreat” means to plead.
Hence, option E is correct.

127. Ans. C.

The word “repercussion” means consequence and
out of the given words, “backlash” has a similar
meaning. “Stratagem” and “Manoeuvre” means
planning or operation. “"Machination” means a plot
or scheme. Hence, option C is correct.

128. Ans. C.

Since the preposition "with" is mentioned after the
blank, only 'interaction' fits here. Interaction means
reciprocal action or influence. Thus, option C is the
correct answer.

129. Ans. A.

Usurped- take (a position of power or importance)
illegally or by force

Denigrate- criticize unfairly

The answer to this is 'declined.' The word declined a
reduction of something. The usage of the phrase
'while previously common' indicates that in the
present, the opposite case exists. Thus, 'improved'
and 'multiplied' can be eliminated. The phrase
'usurped/ denigrated in use' would be incorrect.
Thus, option A is the correct answer.

130. Ans. E.

The answer to this is 'Visual.' The meaning of visual
is related to seeing or sight. In this statement, it is
seen that the game developers require feedback to
get more information to improve the game.
Therefore visual feedback is important because the
users must see and observe the video game in
order to critique it. Thus, option E is the most
appropriate answer.

131. Ans. D.

The answer to this is 'encased.' The meaning of
encased is enclosed or cover in a case or close-
fitting surround. The phrase 'in a special cabinet'
indicates that the arcade games are typically placed
inside a cabinet which is encased, unlike other
video games.
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Encumbered- hampered

Withheld- suppressed

132. Ans. B.

The most appropriate word is 'genres'. The meaning
of genres is a style or category of art, music, or
literature. The video games like other forms of art
and music can be categorized in genres rather than
levels and folders. Thus, option B is the most
appropriate answer.

133. Ans. B.

The first statement has a clear meaning. Brain-
drain refers to the emigration of highly trained or
qualified people from a particular country, this
includes both talent and qualification.

The second statement talks about improper
criterion of employee selection which has not been
implicitly mentioned in any of the statements.

The third statement is exactly opposite in meaning
to the first statement since it says that the two
effects are a consequence of the preference for
talent.

“Fallout” means adverse effects and “predilection”
means fondness or liking.

Attrition means the gradual reduction of a
workforce by employees leaving and not being
replaced rather than by redundancy. Kept up
means maintained. The sentence is incomplete for
comparison since it doesn’t talk about the choice of
qualification or talent.

Hence, the answer is 1 and 3.

134. Ans. C.

Statement 3 and 4 express opposite ideas.
Empirical means based on observation and
experience and its opposite is 'theoretical'. Since
statement 3 states that Al is based in

empiricism and statement 4 negates the fact,
option C is the correct answer.

135. Ans. D.

Statements 1 and 4 express the opposite ideas.
Obsolete means out of date. Statement 1 states
that TD is gaining attention in the Western
business, whereas, statement 2 states that it is
becoming obsolete. Thus, option D is the correct
answer.

136. Ans. D.

One cannot be a priest, grandfather or emperor at
a school, thus, options A, B and E can be
eliminated. In the second blank, we need a word
which conveys the idea that the mother looked
after/ managed the estate. Thus, the feminine noun
"administratrix' fits here. So, 'administrator' is an
appropriate fit for the first blank. Thus, option D is
the correct answer.
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137. Ans. E.

In the second blank, the word "heir" should fit as
an heir to the throne means the successor of a
monarchical regime. "Heiress" fits appropriately in
the first blank. Thus, option E is the correct answer.
'Princess' may fit in the first blank, but 'prince' is
inappropriate in the second.

138. Ans. C.

The usage of the adjective "monastic" indicates that
the mentioned people lived in a monastery. Thus,
monk and nun is the most appropriate pair.

139. Ans. A.

Statement (ii) is factually incorrect. The passage
mentions IP to be the one that defines packet
structures that encapsulate the data to be
delivered. Statement (iii) is also in contradiction
with the passage. As per the passage, when Vint
Cerf and Bob Kahn introduced Transmission Control
Program in 1974, IP was the connectionless
datagram service, while the sentence refers to TCP
for being the connectionless datagram service.
Statement (i) is correct and encapsulates almost all
the important roles played by Internet Protocol.
Therefore, option A is the correct answer.

140. Ans. C.

Statement (i) is wrong as it distorts the facts
mentioned in the passage. It mentions the
discovery to be intentional, while the passage
mentions that the proof came through a
serendipitous accident. Statement (ii) is wrong as
well, as it mentions the domination of bacteria over
moulds, while the passage mentions the case to be
vise-versa. Statement (iii) summarises the passage
accurately and implies what the passage conveys.
As statement (iii) is the only correct summary,
option C is the required answer.

141. Ans. B.

The passage mentions the Japanese art kintsugi
and the philosophy associated with it. Statement (i)
is wrong as it mentions that Wabi-sabi is the art of
repairing broken pottery, which, as per the
passage, is Kintsugi. Statement (iii) mentions the
art correctly but is still wrong as it presents a
misleading interpretation of the art. Statement (ii)
correctly mentions both the practice and the
philosophy behind the art. As statement (ii) is the
only one that summarises the passage, option B is
the correct answer.

142. Ans. A.

‘Lest’ is a conjunction used to mention a condition.
It means ‘in case’. Using it in the sentence would
imply that in case the mentioned event took place,
the concerned people were to follow a given path.
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Statement III mentions the speculation that market
might fluctuate, and the statement I mentions the
reluctance of traders to invest due to the
speculations. Therefore, I and III can be combined
using the connector ‘lest’. Statement II gives
minute details about a couple of policies but is not a
condition influencing either of the other two
statements. Therefore, option A is the correct
answer.

New statement:

Lest the latest budget and the changes introduced
by the government completely change the
economic structure of the nation, the traders will
become increasingly reluctant to invest in the stock
market.

143. Ans. B.

'Since' can be used as a conjunction to state a
reason. Among the given sentences, the statement
I gives a cause and III states the reason.
Statement II, on the other hand, valorises wars and
does not present a valid cause for III, which
negates the idea of war. Thus, option B is the
correct answer.

New statement:

Since war historically has interrupted the flow of
consumer goods, preserving our hard-earned
possessions provides an additional disincentive to
war.

144. Ans. A.

'Although' means in spite of something. So the two
statements should be such that they present a
contrast. Here statement III is completely
irrelevant and cannot be associated with any
sentence. Statements II and II can be connected as
even though Miss Sullivan was amused when
mistakes were made in the published articles, she
made sure that all entries went into the book.

New statement:

Although Miss Sullivan is rather amused than
distressed when someone, even one of her friends,
makes mistakes in published articles about her and
Miss Keller, still she sees that Miss Keller's book
should include all the information that the teacher
could at present furnish.

145. Ans. D.

The usage of the definite article 'the' before uncle
suggests that there is a specific uncle in relation to
the people being talked in the blanks. So, the best
relationship here would be "nephew" and "niece" as
they refer to the son and the daughter respectively
of one's brother/sister.
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146. Ans. A.

The mention of the 'wedding ring' suggests that the
marriage has not yet taken place, but in all
probability, the man is engaged. This eliminates
option C. Thus, "fiancee" is an appropriate word for
the first blank. "Fiance" automatically fits in the
second blank.

Fiancée- a woman to whom a man is engaged to be
married

Fiancé- a man to whom a woman is engaged to be
married

147. Ans. A.

Statement (ii) is completely out of context. As per
the passage, the Great Depression was related to
the market crash and falling economy, and not with
the literal depression. Further, the passage does
not specifies any group which suffered the most
from the depression. Statement (iii) factually
incorrect, as it specifies the Great Depression to
have occurred after the second world war, which is
incorrect. Statement (i) is correct and it
encapsulates what the passage implies. As
statement (i) is the only one which is correct,
therefore option A is the correct answer.

148. Ans. D.

Statement (i) is mildly wrong as it makes the
assumption that section 377 has already been
overturned. The passage merely mentions the
ruling of Supreme court against the section, but
amendments are left to the parliament. Hence,
statement (i) is factually wrong. Statement (ii)
mentions the ruling and that it may influence the
parliament into amending section 377, which is
what the passage hints at. Statement (iii) mentions
that after many years, the right of the LGBT
community are being realized and that section 377
might soon be overturned. This is infact what the
passage implies as well. As both statements (ii) and
(iii) are correct, option D is the correct answer.
149. Ans. B.

Refer to the following statement of the passage,
“"The US economy is fueled by abundant natural
resources, a well-developed infrastructure, and high
productivity.” Number of Immigrants has not been
related to the economic success anywhere in the
passage. Hence the correct answer is option B.
150. Ans. C.

Refer to the following statement of the passage,
“The U.S. is the world's third largest producer of oil
and natural gas.” Hence the correct answer is
option C.
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151. Ans. A.

Refer to the following statement of the passage,
“The labor market has attracted immigrants from
all over the world and its net migration rate is
among the highest in the world.” Hence the correct
answer is option A.

152. Ans. B.

Refer to the following statement of the passage, "It
is currently the largest trading nation in the world
as well as the world's second largest manufacturer,
representing a fifth of the global manufacturing
output.” As can be seen from the passage, the US
produces 20% of the global manufacturing output
alone. Hence the correct answer is option B.

153. Ans. B.

Refer to the following statement of the passage,
“The U.S. dollar is the currency most used in
international transactions and is the world's
foremost reserve currency, backed by its science
and technology, its military, the full faith of the US
government to reimburse its debts, its central role
in a range of international institutions since World
War II and the petrodollar system.” Hence the
correct answer is option B.

154. Ans. B.

Refer to the following statement of the passage,
“The US economy went through an economic
downturn following the financial crisis of 2007-08,
with output as late as 2013 still below potential
according to the Congressional Budget Office.”
Hence the correct answer is option B.

155. Ans. C.

The passage touches upon all the topics mentioned
but the larger context talks about the US economy
and where it stands in today’s world and the
downturn it went through, hence the correct answer
is option C.

156. Ans. C.

The word 'range' in option A can only be used if
there are two values provided i.e. a lower and an
upper value between which a range can be decided.
But over here we only have a single value and thus
cannot use the word range. Hence, option A is
incorrect.

In option B the word 'extent' is not defining the
exact value of the prediction that is being made.
It's just defining the scale or magnitude of the
prediction. Therefore, we eliminate option B.

In option C the word 'accuracy' is appropriate as it
defines the exactness of the prediction that is being
made. We can say that 95% is a precise value of
the prediction. Thus, we can consider option C to be
a suitable response and keep it on hold.
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Option C makes the phrase sound 'The University of
Chicago Medicine colleagues have predicted the
'inpatient mortality' approximately around of 95
percent' which makes no sense. Thus, we eliminate
option D.

Option E is grammatically incorrect and thus we
eliminate it as well.

Hence, the correct response is option C.

157. Ans. B.

The article deals with healthcare as a subject and
the sentence speaks about making assumptions by
a computer system. Therefore, ‘clinical predictions’
in option B appears to be the most accurate option
to fill the blank and thus, we keep it on hold.
Option A tells about making ‘logical estimations’
which is irrelevant to the given content. Therefore,
we ignore option A.

Option C and D doesn’t clearly specify what kind of
approximations are being made. There is no
mention about the subject on which the
approximations are made. Hence, we eliminate
option C and D as well.

Option E talks about calculating measurements
which also isn‘t relevant to the content. Therefore,
we eliminate option E as well.

Hence, the correct response is option B.

158. Ans. E.

Option A is grammatically as the phrase ‘of its
facility’ must be preceded by the word because.
Hence, we eliminate option A.

Option B makes the sentence sound ‘In a blog,
Google calls its program a "good listener" as its
efficient to gather the patient's data including their
ongoing treatments and notes’, which is improper.
Thus, we ignore this option.

Option C and D are too much specific and can't be
judged from the given content. Therefore, we
eliminate them as well.

Option E is appropriate as the word ‘capability’ tells
that it is able to perform different tasks in an
efficient manner.Hence, we choose option E as the
suitable one.

159. Ans. B.

In the given statement, there is no mention of any
problematic situation which needs to be combated.
Therefore, option A is negligible and thus, we
eliminate it.

Option B appears to be correct based on the
structure of the sentence and thus, we keep it on
hold.

Option C, D and E appear to be quite irrelevant and

thus, we eliminate them.
ATTEMPT NOW
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Hence, we choose option B as the most suitable
one.

160. Ans. E.

The phrase ‘using prevention technique’ in option A
is technically incorrect as the techniques described
don't fall under the category of prevention
techniques. Thus, we eliminate option A.

Option B and C both are grammatically incorrect, so
we eliminate them as well.

Option D is inappropriate as the content described
aren’t problems and don’t make any sense at all
and thus, we eliminate it.

The statement is about protection of data and thus
‘with security measures’ in option E perfectly fits
the blank.

Hence, we choose option E.

161. Ans. D.

QT 1T uR=de & AR, AR A hbracd mara Hr
el @ fAuea & fov aa@ ggel TG ey A
(1988) &T GIYUT &T| 3dF dIG dheg H TGN deoled &
g 1994 #H T =Aifa 3 3R 1998 # =15 &

Ud 991G S 6 "9ivorT &7 5|

162. Ans. B.

T av aRede & @R, aE AR 3deTaEdr &
T Ageaqot & § it I8 269 3= e A 3T
g3 &1 31T fashed (b) 3T fasew grml

163. Ans. B.

fgT 1T o= & AR, Feg TWHR o T foaw
3Tary A, TS0 g A Aeter off Fgl S g,
F dgd 305 A g TIRT  RifFed Far g1 sas
3T 2022 dF Tl IRET F T 2 I W FAT FH
8T gl

164. Ans. D.

R av uRede & 38R, 2007 # vs 7% Hfa wed
QIEdY A’ U ‘g sNfa’ Fr awow Y S| 37 Afa
& et & T fhdrIc 3Mare &7 oeg Iod e &
RAffed YR & TTdeileh-Aell TSGR $T Jerar &af Fr
T FE TS| 3 Fhed (d) 3RT Fareq g

165. Ans. C.

T av aR=de & ER, Al A HIeT T gHG
e TAC A8 fAa (vads) § Saer a8 39
R F Fordr ST &, TSeTe Fereqe gfeandy arer ey
81T & 3R TAE afiel ST G F IS AR Hr
37T IUTEAT HT Siidel Feld fhar ST g
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166. Ans. B.

Ru a1 uRede & ER, e HEamt 3k
IF &9 F FASR T & AT vl dfeqsr I
AT Iistar (1952) 3R &7 3 397 marT Jstr
(1956)|

167. Ans. D.

STl I [AdFHET 3TeId & Jd & oIl IR THR
a1 Rer veee (Afdwa 9 A sf@fawsn, 2016
ATHeE Hgeaqul Slelel 1 #S, 2017 T AT AT

168. Ans. E.

T v qR=Se & AR, qdadl e Td Al IR
SeHele FAT @RI AIfSd deheilehl Tefg, 2012-17 &
3TER, 187.8 o Ha! I el g1 31 f&wed (e)
gl @ HIS AE T 3 gem, FifF aR=d & 187.8
oE ¢ S e 7 Alsg 78T &

169. Ans. D.

few arv aRede & goror &1 el e faemer

BT ISt T HY BT § Sllear o faarer & 3 giar
foars= |

170. Ans. A.

T arv aR=de &1 3uded e TER & ITae qear
FA &1 50 INTOG H THER EaRT HEH AT Y
gerar f&ar = g1 e AR Adegawdr & fou
FEeaquT & AT 9T § Fhifeh Tg 269 3T e &
SIS B3 &1 3T IRe3E & HFER 36 IR=SE i
3G M AT HedT FAT B

171. Ans. B.

U a0 el & [Ahcd B # ‘AT’ & TUT W ‘Faed’ 37T
d 2reg BN ST AT a1 3T STl §, FAifh Fgi AeTes
& SR 3R FHiedt & garT & FATS H aRads aoh &
AT ST FeheT g

172. Ans. A.

g & @Us (A) H VAT & HAT & TAH W TAIOT
T FAT A FHT YA 3T g

173. Ans. D.

gl W ‘hael’ IAGTS §| 3 3UgFd AT ‘36 FHAI
el AT d@ F9F AR gem|

174. Ans. A.

feT T g #F TR TAEIT F TUEF | GAR 9T gelr
a1 3T 3ot S g
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175. Ans. E.
few aTe arerr 3 faRelt yaR T actelr ar I FE ar I g

37d: [%ed E s9a&T el 30X grem|
176. Ans. C.
Fed 3R 3TcATAE™EE & I1Y ST & g=ar siae §- argdr

giFd wefl-of U= e AGT DIFdT-

T IR AT A T TeeT e &-

3R GIRAT 3 I ek ALl Heehll-

0 & IfFd 379 IS¢ TATS & AdT 8 o | 3 TR TEr

HH- T T T of g 37: Ahed (C) TEY 3T gHm|

177. Ans. A.

HTYT T HGAT 38h Alfgcd Dl AT g-

3R AT Y ST AT -Uehal &1 FQTI3I 8-

S & @Ifgcd & T A Slefd § o d TR gER gl |
A ST - QAT il Sl TSTIY Fellhl - HosT I F@-
q: T I YT AT Teh A TE5aT & &

3H UHR Tl A g- T T o J| 37 (A ) Hér 3 g
178. Ans. E.

ReaTefist Fefd: i ereg & 3R 3 & "R’ aeg
qATgardT aur arfgfeas A §-

Rardier & fFdY geaT T 39 YR guie fomar Srar & &
qTosh 389 AT & SI1aT 8-

RealdTor dher@es @1 319t qoT fawr &r ot A1 giel &-
a¢ 39 YR for@ar § & @ Sif $o forg 81 & #1ell 38
Hi@r & g -

SHH HO Heca Ul U3 AT Urseht &I fafRrsedrai
el FEATAETor & MR 9T A=A T fageyor gr
ar &-

s el TASUcHS TAT IUTATHS gldT &, Toras aedr
, AT, HTHTT TUT THIGIOTAT T FIAY Aged g B
179. Ans. C.

afg ag =T & fagandf -

ot ag Ferel RIeHr §eT Fehell -

I g FEpd &1 3T ATET §-

ar ag IRIfReT AT 3rEATIT FT FF T v &-

Ty alell GERT T 3UHIOT &1 &l el o

3IREATS 3R TSATT & TdTelT H 98 319 &l JAAY I
g1 30 TR el e -

o T T T 3d: AFed (C) Ty 31 grm|
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180. Ans. D.
TGER HJST 3 UCH FH G AT Fleh 3T AT 3R Tl

UST §- W 3HF A 39 o 97 @ §-

31 oY Tl HesT AT 38 $IcR arel 3 @ I ofet
Y ThT §- TFER AG T ATITAE! ST Hehell-

319 oY g e e &t & foh- o el o ay ggel &
AG-EATdeFeT Sid g1, 9] & FY Teh Hlg W [&aeka

el 3R Tt aTel| 37 bR gl A o-

T | 3d: Ahed (D) TET 37 gm|

181. Ans. B.

fow o fawedt # fawed (b) ‘gHer & T AT
3 YCY Feloll - SEHACTE | TgHeT 2sq M 37T
BT & 3T Foaan |

182. Ans. E.

fRou 91w fashew & @t ereq aciel HT effe @ gew B
37d: @Aed (E) 3% gl

183. Ans. A.

fqu av et & e (A) ‘quafafd & ade Terd
&1 3 ey F g oAty | quafafy T o e
g A arell fafYy gxdr § |

184. Ans. D.

feT v fawedt & fAed (d) ‘RAufasias FT adelr Teld
g1 3 ey adelr gen- faufasiets’ | fufseres & e
grar & faufy der seearar |

185. Ans. C.

e v fwew (c) # IegE weg F IR ¥ I wh
AE I BN 3FTeceh 3MTeciehenl Y grell

& 3 3T SAedTe |

186. Ans. B.

feeell Fodeid & g FA HTeH AMH A &fFT HRA
A IR eI AT I Hodeld, aEeT 3R FET H
gFd W T@T § AT U 7w Fehedt & @ et 3fa
aheT gl

187. Ans. A.

3t /el o gladsT HRd & Siidsl & TceT
3aey fRar ATl 39 A @ gEY arFg § S gear § &
Jesede f@ersl o gfaFEs oRa 1 39a Uo7 AgT
AT o1 I foh 38« garE o foRar ar AAfshe &
gt gt g8 o sufT W e # ¥ W W
‘Tl B
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188. Ans. B.

Aigrae oo o afFes HRd A faglel & aaet &1 I
fRaT U7 9 98 G @l ATl aFT H GHA T Tl H
di ‘T AT Afhed’ eg &1 sTAATT cATar & F Algrae
ek Hhol el T6T AT SAAT 3 faswhed @ &
189. Ans. B.

A T T TATTAT FHeAd: Teh SEHOT GaRT I TS
ofT| FUTIeAr AR AT erat @7 3YANT T FAEAT WA
T a7 § safov RU v fawedl & & TU9=T T
arrg quT e g 3T &

190. Ans. E.
Wﬁmﬁwﬁ@rma@mzﬁ,ﬁzm
&It & AHCHATAT T AT T I1=T A1) a1y &
3R, AHCIHAA HT TEAT H T4 & v 37 Ut &
HAAHATA I JollAT IAT| SR [dehed! H & ad H
3T & A AR 0T & ITER dhael HAET Aqsg &
Fffd X W@ B

191. Ans. D.

AT # faeRIat o vog@ T e ar | suied
fashedt & @ areFg @ 3T &7 @ AR AT F IR
Had T Teg & Hedd FX W@ &

192. Ans. A.

zg #ifa I el arEe Feetag dUT STARFAG &
FfAfAfer Sefeht AT A ofFT &| gEereAare HREHAT &
erfie faeara 1 gafar gl

193. Ans. B.

a%Taaing@qqo e STeTcll & el Safehl afifct ar
FE=Y AT SeIdT IT FEEY & gAY & fow g7 9=
W%mwﬁmmﬁ%l

194. Ans. C.

STET T SEHEAS fig Sedr & afd 3eehr Aifd @
FFGY AT, I YT hedl a7 faer & & 9= W 39
arFg # AT HT Hedl ¥ Ferdid har g1 38 aeg &
T QX ersg 1 AT AT § S e IR A
o F| AT Y Aqsg 3N fdshedl # 4 g
a1 379 g

195. Ans. D.

g TE feegait & fav g7 Iikaqot sfagra &1 gsa
o7| EfeEe oRa # B3 o gaeAE & fov et
@3t &1 & safav I8 gear gyt & fav aiaget o
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196. Ans. D.

U I [Faredl H 3o’ ST T GAENT Usc § Fafh
3T e UAT & AT ereg g1 37T AFed (d) ST
gl et ¥ et B

(31Teh, e, Focel, AH, R, F, T @l a1 &
ATl ereg 1)

197. Ans. B.

T T Qephedl F WTEAT HUT T FAGNAT A &
Safh 37T e IMRAY T FANAT s g1 3 fAweq
(b) 3oT T3 faweul & AT &1

(3T, FElelt, gaid, sfaqd, I qelt ‘wur & FATEnt
qSE El)

198. Ans. E.

T arv fReredt F ‘ara oS 1 A o § SEfF
3 Qe ‘AT T AT eAeg §1 31d: [Aheq (e) 5T
Tt fashedl & et §1 (T, HeleR, H1, §Y, deed, J
sy S & AT g §l)

199. Ans. C.

fow arv fAedl & @ ew & AT Qe & Sefh
3T g gAY & gAY ereg gl 37 Adeq (3) &
g3l RApear & et B

(TR, YT, TEhrarest, TEH, dFaho & |l arer &
ATl ereg §1)

200. Ans. C.

ST 91T Ahedl H ‘I WK HT AT /qIgardr Use
g St 3T g ‘feor & At /aaTgarr Use gl
31 [@Fed (C) 57 Tl fawvenl & e &I

(31T, 1T, T, &8, ola], 39T, ol & Tl eRR &
AT /qAERT o 1)

201. Ans. D.

Speech recognition applications include voice user
interfaces such as voice dialling (e.g. "Call home"),
call routing (e.g. "I would like to make a collect
call"), domoticappliance control, search (e.g. find a
podcast where particular words were spoken),
simple data entry (e.g., entering a credit card
number), preparation of structured documents (e.g.
a radiology report), speech-to-text processing
(e.g., word processors or emails),

and aircraft (usually termed Direct Voice Input).
202. Ans. A.

An algorithm is an effective method that can be
expressed within a finite amount of space and time
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and in a well-defined formal language for
calculating a function.

203. Ans. E.

Downloading is a Process of a computer receiving
information, such as a Web page, from a server on
the Internet.

204. Ans. D.

A firewall is a system designed to

prevent unauthorized access to or from a private
network. Firewalls can be implemented in

both hardware and software or a combination of
both.

205. Ans. C.

In a web site, the "home" page refers to the first
page. A home page or index page is the initial or
main web page of a website. It is sometimes also
called the front page or main page (by analogy
with newspapers), or written as "homepage."
206. Ans. D.

Computers of the fourth generation (1971-1980)
are used Very Large Scale Integrated (VLSI)
circuits.

Note: VLSI circuits having about 5000 transistors
and other circuit elements with their associated
circuits on a single chip made it possible to have
microcomputers of the fourth generation.

207. Ans. B.

A print out of the contents of the file on the
computer. That is what the term *hard copy’
normally refers to.

208. Ans. C.

The operating system that is self-contained in a
device and resident in the ROM is Embedded
Operating System. An embedded operating
system is a specialised OS for use in the
computers built into larger systems.

Note: An embedded system is a computer that is
part of a different kind of machine.

209. Ans. C.

Programs written in a high-level language must
be translated into machine language by a compiler
or interpreter.

210. Ans. B.

Random-access memory is a form of computer data
storage. A random-access memory device allows
data items to be accessed (read or written) in
almost the same amount of time irrespective of the
physical location of data inside the memory.

211. Ans. D.

To copy a cell, you would drag the cell border while
simultaneously holding down the Ctrl key when the
distance between cells is short and they are both
visible in the window.
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212. Ans. C.

The hexadecimal numeral system (hex) is a
numeral system made up of 16 symbols (base
16).Hexadecimal uses the decimal numbers and
includes six extra symbols.

Note:- It uses sixteen distinct symbols, most
often the symbols 0-9 to represent values zero to
nine, and A, B, C, D, E, F (or alternatively a, b, c,
d, e, f) to represent values ten to fifteen.

213. Ans. C.

A family of computer models is said to

be compatible if certain software that runs on one
of the models can also be run on all other models of
the family. The computer models may differ

in performance, reliability or some other
characteristic. These differences may affect the
outcome of the running of the software.

214. Ans. C.

Until a computer can recognize handwriting, an
input device must be digitizing devices.

215. Ans. A.

A virus is a small infectious agent that replicates
only inside the living cells of other organisms.
Note: Viruses can infect all types of life forms, from
animals and plants to microorganisms, including
bacteria and archaea.

216. Ans. E.

After you've opened a window, you can maximize it
to display full-screen. You can also minimize it so
that it disappears from the desktop.

217. Ans. A.

The Domain Name System (DNS) is a hierarchical
distributed naming system for computers,
services, or any resource connected to the Internet
or a private network.

218. Ans. C.

In electronics, a multiplexer (or mux) is a device
that selects one of several analog or digital input
signals and forwards the selected input into a single
line. A multiplexer of 2n inputs has n select lines,
which are used to select which input line to send to
the output.

219. Ans. D.

Integrated Services Digital Network (ISDN) is a
set of communication standards for simultaneous
digital transmission of voice, video, data, and other
network services over the traditional circuits of the
public switched telephone network.

220. Ans. A.

Computer-aided design (CAD) is the use of
computer systems to aid in the creation,
modification, analysis, or optimization of a design.
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221. Ans. B.

Telnet is a session layer protocol used on the
Internet or local area networks to provide a
bidirectional interactive text-oriented
communication facility using a virtual terminal
connection. User data is interspersed in-band with
Telnet control information in an 8-bit byte oriented
data connection over the Transmission Control
Protocol (TCP)

222. Ans. B.

A primary key is a key in a relational database
that is unique for each record. It is a unique
identifier, such as a driver license number,
telephone number or vehicle identification number
(VIN).

Note:- A relational database must always have one
and only one primary key.

223. Ans. B.

An Excel worksheet is a single spreadsheet that
contains cells organized by rows and columns.
Note:- A worksheet begins with row number one
and column A. Each cell can contain a number, text
or formula.

224. Ans. A.

Windows Virtual Desktop Access (VDA) is

an authorization strategy that requires each
device seeking access to a Windows virtual
desktop in a virtual desktop infrastructure (VDI) to
be licensed.

Note: The goal of Windows Virtual Desktop
Access is to simplify licensing requirements in a
virtual environment by licensing the devices that
seek access to virtual desktops, instead of
licensing the virtual desktops themselves.

225. Ans. E.

In Excel, move somewhere in a row you want to
hide and press Ctrl+9. The entire current row is
hidden and you don’t need to select the entire row,
just have your cursor somewhere in the row.

226. Ans. A.

Kernel is a central component of an operating
system which acts as an interface between

the user applications and the hardware. It is
also called as the heartof the operating system.
227. Ans. E.

The user can do the central align to the selected
text in Word by pressing “Ctrl + E” keys together.
228. Ans. C.

Extensible Markup Language (XML) is a markup
language that defines a set of rules for encoding
documents in a format that is both human-readable
and machine-readable.
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229. Ans. E.

In Excel Starter, a spreadsheet is called a
worksheet, and worksheets are stored in a file
called a workbook.

230. Ans. B.

Redundant Array of Independent Disks (RAID)
is a technology that provides increased storage
functions and reliability through redundancy.
Note: This is achieved by combining multiple disk
drive components into a logical unit, where data is
distributed across the drives in one of several ways
called “RAID levels”.

231. Ans. C.

Hybrid computers are computers that exhibit
features of analog computers and digital
computers.

The digital component normally serves as the
controller and provides logical and numerical
operations, while the analog component often
serves as a solver of differential equations and
other mathematically complex equations.

232. Ans. C.

Ping operates by sending Internet Control
Message Protocol (ICMP) echo request packets to
the target host and waiting for an ICMP echo reply.
Note:- Ping is a computer network
administration software utility used to test the
reachability of a host on an Internet Protocol (IP)
network and to measure the round-trip time for
messages sent from the originating host to a
destination computer and back.

233. Ans. D.

A Data diddling (also called false data entry)
occurs when someone with access to information of
some sort changes this information before it is
entered into a computer.

234. Ans. B.

A "process description” is defined as a general
description of how a process happens, step by step.
It does not tell the reader what to do; rather, it
describes how something happens.

235. Ans. A.

FTP is better than HTTP as it has built in flow
control. The control channel and data channels are
independent of each other two separate TCP
connections.

Note: FTP is the two-way systems as files are
transferred back and forth between fie server and
workstation. Whereas http is a one-way system as
files are transported only from the web server onto
the workstation’s browser.
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236. Ans. D.

A bridge joins two similar types of networks so that
they look like one network.

237. Ans. B.

The basic building block of relational model is table
or relation. A table is composed by rows (records)
and columns (attributes) related tables are linked
with each other using repeated columns. Relational
database models can be represented the form of
tables and relationship links among them.

238. Ans. B.

In computing, a data warehouse (DW or DWH), also
known as an enterprise data warehouse (EDW), is a
system used for reporting and data analysis. DWs
are central repositories of integrated data from one
or more disparate sources

239. Ans. C.

An Internet Protocol address (IP address) is a
numerical label assigned to each device (e.qg.,
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Computer, printer) participating in a Computer
network that uses the Internet Protocol for
communication.

Note: An IP address serves two principal functions:
host or network interface identification and location
addressing. Its role has been characterized as
follows: "A name indicates what we seek. An
address indicates where it is

240. Ans. A.

Cipher locks are used to control access to areas of a
facility that are sensitive. e.g airport research and
development laboratories areas within financial
institutions etc. A cipher lock may have four of five
push buttons depending on the manufacture.
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